| 2. ufrerm

; (Inve

rse
Tngonometn Functmn) '

' Yeire e
f—\
1. 3sec ;—’Sln (4x \3x)= :

(A)

- ®) >
(C) =
2 D
_f ( )m%%’g:"@f Ans, (C)
2. cot™ (=x) =
(A) - cotly (B copet [BSEB, 2018 ()]
(C) T+ cot™ly p SO .
) T~ cotlx Ans. (A)
cos"(_—lj—
3' -
2 [BSEB, 2018 (C)]
(A) T (B) = w N .
3
Ans,
" - W ns. (A)
2-2x [BSEB, 2018 (C)]
(A) 2tan™1Jx (B) cos112x
1+x
C sin”! 2x
(© 1+ x (D) \[Z—tan—lx Ans. (A)
=1 _
5. tan” (1) = .. ? [BSEB, 2017 (A)]
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. tan™! (cos‘l—;iﬂan‘l%—) FAN R
6 7
A) — X =L
( 17 (B) 16

(D) & T& (None) Ans. (C)

(C)

17
6
g et

Xty
VI @l ol o
Ans. (B)
. afe sin‘l(l—x)—ZSin“lx=§ I x H AT B
_ [BSEB, 2012]
. 1 -1 !
A0 ®0-35 ©05 (D) PE &
Ans. (A)
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